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IMPORTANT NOTES

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
HEIRT IR B U9 B S R [ S Tor SN UH.ATR. UEE i Wl YER W W |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
.0A fafi=r gfe o amt & forfea & 1 vs gfe wd wmr 7 @ 6 S aret w5 den sl 39 i 39
Ife e T o affea fR T E

(C) Attempt answers either in Hindi or English not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.

ITe Ien A feht o ° @ st o A SRR, A A @ 1 s Tavaes vt % S St Has s g fafe | &
u i, wi" a9 {6 vee fomiw & fow sem @ st o el A SR A w7 femr mar &t

(D)}  The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
anaAfEl F S I Frifi vl @ w @ o TR feree ifen | SHe Sooie SRR W 3E F AR

(E)} Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (in¢cluding Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
ferlt ot e = I e e  Treif s W ford | v o (W T < e ) o aTet el W AT AW,
et R ST T S G e gy — v § AW, U, TS T Sl % AW one 9w off neErR ¥ s
TR, 91 O 3 oty T i 1 O e W ST 5 S ST W ST 9 3 AT SR | SMUH.ATR, e W/ I
T YT 3T T W SENT ERT S MR W J 5 37k W < Wehd §

(F} Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the baorder line will not be checked by the Examiner.

=t i e st & 6 weier et & S I § SR T e ST | S oo A6 o | 9T

AT & Y fore T I H I G S e SR |

(G) If there is any sort of ambiguity/mistake either of printing or factual nature thén out of Hindi and English version
of the question, the English version will be treated as standard.
aﬁ%ﬁmﬁ%ﬁmﬁﬁéwmmwaﬁgﬁﬁﬁm%ﬁmaﬁsﬁmﬂﬁaﬁﬁ
TR T G |

(H) The Question-Answer Booklet is provided in a sealed envelope to the candldate. .Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.

et fows & wm ot 12§ | enael fowy T sifed fewl =t gget wiwon ut gEaIe
FA R I AN H AT R |

(I)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball peint pen. Please ensure that this OMR Sheet is not torn or damaged.
angelt yRATaY IR % FUT Ter T SNUH.AIL U 9T Tt Sifsd EeRer e a9 ¥ FewmigEs o | Ee
@ fF 77 SN.OH.AR. U el & o el averen et off yeR § erfemre et et

()  This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
TE AQHAR, 93F T 9 A 5 &, T e geeEnd EEia § 199 B gia snaelt Bt B |

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer bookiet, otherwise the candidate will be liable for that.

R TR QR HE @ HE-HE U RA 3, A SRS % SIF o § a1 S8 ST &, S SH qie
' et T B |
faste =iz
el gRT AT N.UH.3TR, T W T EAT S A & A1 39 RO R o edfy Ugarg il ¢ St 39 W et W @
weam e sift faar st &, &t s g wgut wHen & snafiar P &t o waet o SwE R st Soemd & o
Special Notes :
If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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(Unit-T)
@D

Part— A
HMT-A

Note : Attempt all qucstions. Each question carries two (2) marks.

AT AN I ETA R I TAD T F I (2) D E |

(Marks : 100)
(3% : 100)

Marks : 20
I®: 20

1. Statements :

Some pencils are erasers.
All pencils are sharpeners.

All erasers are not sharpeners.

Conclusions :

Which conclusion is correct 7

L All erasers can be pencils.

II.  Some sharpeners are crasers.
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ECRIRERCEEN
it dfger R &

T} 3EE IR T § |

e

. wftwgdfgergt gea €1
II. FBIRESE |

i e W @ 2
/??i/’“\ ST = ST )
e S ST =g < Ef
A

Lf

B | sa

ITH =2 «d—

e .

Paper-11




4.  Find the odd one among the following :
frer F @ e e w9 i

17,27,37,43, 67

TS '
I 16 29 ¥ vz &
! 1 } f

1
L'z_g'l 60_

5. Two trains running in opposite directions at 36 km/hr and 45 km/hr cross each other
in 20 seconds. 1f one is 200 metres long, then find the length of the other train.
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6.  The ratio of two numbers is 3 : 4. If their greatest common factor is 4, then find out
their least common factor.

ﬁdwsﬁwagqm3:4%laﬁmwwmﬁ$4%,aﬁmmwmaﬁ$m
HifT |
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7.  Two dice are rolled simultaneously. Find the probability that the sum of the numbers
on them is not 8.
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8.  Define sampling frame. °

v T afenfia i |

N

.IA LS. PR A V] S
AN aA [L‘Hﬁ IEXZ ?SQW\,fl@’? f’fﬂM,Q &/

gc‘(mf)lg ?)‘m n — 2.? & 0
GTHL V7SN

——

Paper-I1 8




9. In the following figure, O is centre of circle and ZAOC = 100°. Find the ratio

ZADC to ZABC.
A fmEd, O @I TN LAOC = 100° & | ZADC & £ABC F7 3 7
HIT £

10.  For a moderately symmetric distribution, the difference between mode and median is

28. Find the diffefence between median and the mean of the distribution.
U S WA SeT 3 Tgeh o IR SR 28 ¥ | 9 e & WRAH o A
I I ST |
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12.  What do you mean by correlation coefficient ?

TEHY TS | S T AU & 2
) 3 . i
I ' [ { F)
- & LS A1 D £
& Aoy QeI |  JEATa<] 9 HAT —] sy
- T T A
T "“G\f%—M ] TS ¥ CHE HEeX =
PSR
[Alf“) 2 - ( ugle .
ST e o R i e e
e Sedy Y et

. r{df-— & IR R (m3s7)T)

P M
—Wﬁﬁ?f' /- £EDT J T A 5 7]

N2 )

13. Find the value of the following :
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14. Ifa T b is coded as the remainder (r) when a is divided by b, then find the value of

following :
s a T b N (r) W e 6T STar & 57/ a &1 b & 90133 §, At Fr1 &7 A9 7 Hirae
[1001 725 + 1002 T-25 + ....... + (1025 T-25)] T 25 : s
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15. In the givén right angle triangle PRQ, RS is perpendicular to PQ. Find RS when
QR = 5 units and RP = 12 units.
&2 o T B PRQ § RS STPQ W AR & 13 QR = 5 THE T RP = 12 1S &,
at RS &t ward @ Ffe |
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16.  On which compound interest rate, ¥ 25,600 will become ¥ 62,500 in four years ?
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Part-C _ Marks : 40

wT-¥ | b : 40
Note: Attempt anw,gf»the following questions. Each question carries twenty (20) marks.
Ae: O | g u Ee | TE IR & | (20) 3TF E |

19. All the six members of a family A, B, C, D, E and F are travelling together. B is the
son of C but C is not mother of B. A and C are a married couple. E.is the brother of

C. D is the daughter of A. F is the brother of B. Answer the following questions :

T IRER % T 5 G A, B, C, D, EF F THEM I @ § | B, cw g ¥ g C .
BH UM E |ASCTUTE IE,CHAEL ID, ARTHR IF,BHIER I F=
TEH! 1 I AT | |
(i) How many male members are there in the family ?
R & ey W F we e
(ii) Who is the mother of B 7 —
B ! AT A 8 2
(iii) How many children doe; A have ?
A & T = € 2
(iv) How many brothers does D have ?
D & fmA A & 2 Y/
(v) Identify the names of Females in the family. !
afte 3 e & T | )
e )
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Six lectures A, B, C, D, E and F are to be organised in a span of seven days-from

20.
Sunday to Saturday. Only one lecture on each day in accordance with the following :
T & A, B, C, D, E 9 F &l 9 &7 &I sty o far @ vieEr 7 st
ST ¥ 1 ShEel Teh AT M fo fFrrar amn e
(i) A should not be organised on Thursday.
A TEIR ! AT 81 @ =fea |
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22.  Solve the following.:

e =t 7o wifvig ' .

(1)~ Find the perimeter of' a ;igh-t angle isosceles t'rie‘mgle with unit arez;.

(2) A Box contains five rupee coins, fifty paise coins aﬁd twenty five paise coins
in the proportion 5 : 6 : 8. If the value of total coins is T 21‘0,‘ then find the
number of coins of each kind.

— T T W U & foed, e R S fras s vl @ S e 5 (61 8 F
U § & | iy ot Foen! 1 g 210 F92 8, @ U WHR & foaent it e @
EdEell _

(3) An Army General wants to make a solid square by his 36,562 soldiers. After
arranging, he found that some soldiers are left. Find the number of soldiers

who are left.

@mwwwaﬁm%%m%smﬁmwmaﬁm | SHaEfeEd H %
maﬁwﬁﬁwwmnﬂ% | @igqaam‘ra%‘rwmﬁaﬂﬁrq |
(4) To complete a work, A takes 50% more time than B. If together they take 18
~days to complete the work, then how much time shall B take to do it
independently ? °
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10. What is the size of nanoparticles ? List any two uses of these.
0T T SATHIT T & 2 T ST & S ISBI0T < | Q/

' 4— A . - a
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Part— B o Marks : 40

wr-a 3 - 40

Note : Answer the following questions in 50 words each. Each quest’ion carries 5 marks.

T P e o S 50 TR R ¥ | e e 5 A E

11. What are sources of Vitamin A ? List the diseases caused due to deficiency of

Vitamin A.
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14. What is Blood Pressure ? What is the normal range of blood pressure and which

instrument is used to measure it ?
T 19 TSI & 7 WL T I W 4 Gl € T S WIS 6 SUhT g
Tepan e & 2 | - o

STAT ST S T GWoE) [ =53 UC Wqﬁ, ]
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15.  What is Biodiversity ? Name the technologies that can be used for propagation and
genome conservation in a given egosystem using suitable examples.
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16. Describe the use of blosensors and biochips in mformatlon-‘ and

surgery.
E@% aﬁwmmﬁﬁauﬁﬁmﬁafmﬁ%mwaﬂhaﬁ| g
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17. What are genetically modified crops ? .Give suitable examples.related ‘to Indian
Agriculture and Horticulture.
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Marks : 40
aiﬁ‘: 49

Part-C
W‘T;ﬂ'

Note : Answer any two questions in 200 words each. Each question carries 20 marks.

M 7 & 9 gLul () T ST 200. 91 H S 1 ek R 6 20 SR E |

Write an essay on the importance of narco-analysis, brain mapping and DNA

19.
- barcoding in Forensic Science. Mention their limitations.

fafy fom & IRl favetvn, ofass wafia ot ST arge @ e W oo ey
fored | sa! Sifddrett & Ieoid &Y |
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20. What are non-conventional sources of energy ? Describe any two non-conventional
¥ energy sources with special reference to Rajasthan.
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21. Give an account of the use of information technology in e-governance; e-commerce

and international diplomacy.
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22.  Use your creativity to develop a “vision document” for improving forestry, animal
husbandry and information technology for Rajasthan.
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